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Q.No: 1
2406210 Partial pressure of solid is taken as ____ . Molar concentration of pure solid or pure liquidis __
3 BT 31ifb a1 FEIARA AT R YE SN AN IS A BT AR G g g
unity, constant
A
THal, RRI®
unity, variable
B
Thdl, I
zero, constant
C

3, RR
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zero, variable

T, R

Correct Ans : A

Q.No: 2
2406212 (hoose incorrect statement:

(i) If Oc > Kc, system proceeds in forward direction to attain equilibrium.

(i) If Qc > Kc¢, system proceeds in backward direction to attain equilibrium.

(iii) Relation between equilibrium constant (Kc), reaction quotient (Qc) and Gibbs energy is
(G).

AG=AG°+RTInQc

&AG® =-2.303RT log Kc (at equilibrium)

(iv) Relation between equilibrium constant (Kc), reaction quotient (QOc) and Gibbs energy is
(G).

AG=AG°-RTIn Qc

&AG® =-2.303RT log Kc (at equilibrium)

2 of 100 15-12-2021, 11:06



Firefox https://mppeb.cbexams.com/MPPEB_LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

mawaﬁ:

(i) TfE, Qc > Ke Hetel 9Ied &el & folw Jorel 3mar & fger # 3T Jed gl

(ii) TG, Qc < Ke Heerel Tied &t & folw gomelr odt Gar 7 3wt sedr 81
(iii) Herer Eerien (Ke), gfdfsar smrser (Qc) 3R Fieq a1 (G) & dra d@ew &
AG =AG®+ RT In Qc

&AG®=-2303RT log K¢ (Fdelel )

(iv) HeleTel oo K¢) wfaferar smarmel (0c) 3k s 56l (G)% & dew &
AG =AG°~RT InQc

&AG°=-2303RT log K (Tdere )

(i) and (ii)
A
(i) 3R (ii)
(iv) only
B
(iv) Faa
(i) and (iv)
C
(iii) 3R (iv)
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(i), (ii) and (iv) only

(), (ii) SR (iv) Paa

Correct Ans : D

Q.No: 3

2406215 Is a system in equilibrium is subjected to a change of concentration, temperature or pressure, the equilibrium shifts in a direction that tends to the effects
of changes imposed.
T Gga § TP Yot THIT, 99 91 ga1a & gRaaH & 3+ §, Ige U faxn § Sad ol § o T T GRGcHI & JHTE & fog e g1
increase

A
accelerates

B
aw
undo

C
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Increase and accelerates both

gfs 3R ot gt

Correct Ans : C

Q.No: 4
2406217 If a stress is applied to a reaction mixture at equilibrium, reaction occurs in that direction that the stress. Above statement is related to
e Tge W fafsrar fyor )R we arg ar] faan wran 8, o wfafsrar 39 fo=n & i & f TG IR HYUA Y Teiftd §
enhance, Arhenius concept.
A
T, 3R S@URum|
relieves, Le-chatelier’'s concept.
B
Ed ST 8, A-VRRR FI Sr@yRom|
enhances, Le-chatelier concept.
C
qerar 8, A-AforaR Sr@urum|
relieves, Arhenius concept.
D

Ied odT 8, SRefaY @uronm|
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Correct Ans : B

Q.No: 5
2406234 Math the appropriate options and choose the correct option.
When equationis : ‘equilibrium constant becomes’
(i) Divided by 2 (@)=
2
(i) Multiplied by 3 (b)K?
(ii1) Divided into 2 steps (c)K=K; XK,
(d)vK

IUgad fadmedl &1 TG HX 3R el fAded &1 999 B

ST FHIFIOT el § Hed U & ST &
() 2 & fasnfora (a)fzf
(i) 3 T (b)K?
(iii) 2 TN # fqsnfaa (c) K=K, XK,
(d) VK

@) | G | @i

@) | @i | @i
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@) | @i | @i

a b d
B
(i) | (i) | (i)
a b d
(i) | (i) | (i)
d b a
C
(@) | G | di)
d b a
(@) | G | di)
d b C
D

@) | @i | @i

Correct Ans : D

Q.No: 6
2406237 Choose correct option for reaction

NH,(aq.)+ H,O(l)= NH,(aq)+OH (aq.)
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[NH3(aq)]
o [ )] 0 (ag)] .
(i) K= [NHs(aq)][HZO(I)] ( H,0(/) being constant)
o [NH(ag)]
WK I, (ag) ] H.00)]
e ¥ R W e o

NH,(aq.)+H,0(l)= NH;(aq)+OH (aq.)

I:NHJ (_aq)][OH_' (aq.)]

et | NH,(aq)]

o o[ NH (aq)|[OH (aq)]

(i) K= [N, (ag) [ 00 ] (H,0(/) FaR g & amy)
i e £NH;i“q);| _

W= TN, (e [[7.00)]

only (i)

Fad (i)
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Only (ii)
B

Fad (i)

Only (iii)
C

Fad (iii)

Both (i) and (ii)
D

T (i) 3R (i)

Correct Ans : D

Q.No: 7

2406263 1£ 416 rate law of any reactionis K[R][S]?. Which of the following will not increase the rate of
reaction?
Ife frdr gfafshar &1 gx Faa K[R][S)? 81 Me=tfoif@d & & slet afdferar & gy A gfg a18r
HLEIM
Increasing the concentration of [R]

A

[R] & Wigar & i3
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Increasing the concentration of [S]

B

[S] ¥t Higar & g

Increasing the temperature
C

GIEEIGEHEI

Adding the catalyst to reaction
D

ISP &I ufaferar & SsT

Correct Ans : A

Q.No: 8
2406264 If any reaction is found to be zero order in S. Increasing the concentration of S by a factor of 3 will cause the reaction rate to -

afe s B IS Hfiferar I Hfe 3 org oIl §1 S B W1 H 3 & UGS B gfg B U ifferar o gl -

Increase by 27

27 B g3

Increase by 6

6 ot gf
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Increase by 9

9 # gfF

Remains constant

fRrwa e

Correct Ans : D

Q.No: 9
2406265 Which of the following factor lower the activation energy?

fafifad § & 91 SRS Ifhaur Fuif &I HH BT 82

Increasing the concentration of reactant

A

SfUPRS I Higdl T

Increasing the temperature of reaction
B

wfaferar & araa= # gis

Adding catalyst to reaction
C

ufafsear # IS ST
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Removing product as reaction proceeds

3IdIE B! ge P FU A ufafspar 3mt gedt @

Correct Ans : C

Q.No: 10
2406270 If any reaction is second order with respect to reactant, how is the rate of reaction affected of concentration is reduced to half.

e Pig iffspar sifiieRe & Tay & fgdia Fife &1 8, O Irsar I wwifad ifiifear &t R seh HI &) ot 82

Half
A
3TYT
Double
B
Remains same
C
TG EAT®
Zth
4
D
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Correct Ans : D

Q.No: 11
2407251 14
Half-life of 4€  (A=2.31x10%yr) is:
(;CM (A=2.31x10"yr) FI 314 3ﬂ'<’3_[,§
3
3x10° year
A
3
3x10° year
3
2x10° year
B
3
2x10° year
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3.4x10* year
3.4x10* year
4x10* year

4x10* year

Correct Ans : A

Q.No: 12
2407403 What does protium and tritium differ in?

TifeTm ok Rfeow frad fir g &2
Protons

A
Wer

B Neutrons
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g

Electrons
C

Both protons and neutrons
D

Weld 3R =geiq At

Correct Ans : B

Q.No: 13
2407405 Find the number of electrons and number of protons in 2 moles of O,

0, % 2 AT H aldcld 3 Fieisl FT G&AT AT HIFST|

19.27x10% electrons, 19.27x10% protons

19.27x10% Solgeie, 19.27%10% Yield

9.635x10% electrons, 9.635x10%* protons

9.635x%10% Solarclel, 9.635%10% WITTeT
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9.635x%10% electrons, 9.635x10% electrons

9.635%10%3 Seldrclel, 9.635% 102 GIcld

1.927x10% electrons, 1.927x10* protons

1.927%10%5 SolgFeiel, 1.927%10% Hield

Correct Ans : D

Q.No: 14
2407408 Which of the following can be explained using Bohr’s model.

fFafafed & @ 58 Sigr & disd gRT JHT ST 6T 8|

spectrum of atom other than hydrogen

A

BIZGIS & QTaT WRHTY BT WeagH

spectrum of atom of hydrogen
B

BISS o URUTY] T WaeH

finer details of hydrogen atom spectrum observed by using sophisticated spectroscopy technique
C
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Rpd ARSI THNP ST STH PP 3@ TT T3S I6 WA WaeH ST Ii® fAavor

ability of atoms to form molecule by using chemical bond

INIRAS ST BT ITANT HIP U] T & 1 AT B gran

Correct Ans : B

Q.No: 15
2408104 A solution of ethanol and acetone will show reactions as -

37T IR Tl &1 Ue faaaq, sififspanstt & foam-

Behave as a ideal solution

A

TS 3Mexl faeaq & ®U # sqagR &Y

Obey Raoult’s law
B

IS & T T Ut B

Show negative deviation from Raoult’s law
C

I¢ & Faw | Bunes faga- gz

Show positive deviation from Raoult’s law
D
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IS & A ¥ IeRTES faue feamn

Correct Ans : D

Q.No: 16
2408106 Relative lowering in vapour pressure of a solution containing 3 mole K;SO; in 54 g H,O is (Consider
100% ionised solution for K,SO4)

54g H,0 & 3 AT K,SO.arer faerad & arsy g & 3mifais a8 (K50 T 100% 3mafaga
faerad )X fTaaR &)

5418

5418

34

34

54

54

355

355
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Correct Ans : C

Q.No: 17
2408111 (galculate the molarity of a solution containing 10 g of NaOH in 750 mL solution. (In mol dm™)

750 ml fderTd # 10g NaOH arel [derad sl AleRdTr Iikahfeld chl 11 T | (mol dm3#)

0.433
A

0.433

0.533
B

0.533

0.667
C

0.667

0.334
D

0.334

Correct Ans : D
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Q.No: 18
2408135 Which of the following is incorrect statement regarding ideal solution?

e gAY & oy § Fufifad # ¥ SF 91 Y= Tad 872

Mix H=0,AmixV =0

A

Mix H=0,AmixV =0

Amix H >constant, Amix V = constant
B

Amix H >R, AmixV = RS

Solution of Benzene and Toulene one ideal solution
C

¥ iR g +1 O T el 9ia 7

Heat is not evolved neither absorbed during mixing
D

fArgor & R 9 A FoAT R Ria gt @ ok 7 & sra=ifya i 2

Correct Ans : B

Q.No: 19 A
2408798 The complex ions [Fe(CN)g]>~ and [Fe(CN)g]+~
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| AT [Fe(CN)g]*~ TAT [Fe(CN)g] - STil-

Are both octahedral and paramagnetic

A

APFAPT TUT STTHIY gl

Are both octahedral and diamagnetic
B

AFHABT YT HfagEaaIa B

Have same structure but different magnetic character
C

U WA WReg v grasia o1 vad g1

Have different structures but same magnetic character
D

R He=AT g HE TP 01 3@ B

Correct Ans : C

Q.No: 20
2408799 Which of the following contains one unpaired electron in the 4p orbitals?

fafafad & @ S Iod 4p ek H U AT Sade Wdl § -

A [Cu(NH3)7]™
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[Cu(NH3)7]™

[Cu(NH3)4]%*

[Cu(NH3)412*

[Cu(CN)4)3~

[Cu(CN)4)3~

[Ni(CNg) 2~

[Ni(CNg) 2

Correct Ans : B

Q.No: 21
2408800 Which complex has square planar structure?

BI-91 Qe a7l G SR @ § -
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Ni(CO)4
A
Ni(CO)4
[NiCl4]3-
B
[NiCl4]2-
[Ni(H;0)6]%*
C
[Ni(H0)]%*
[Cu(NH3)412*
D
[Cu(NH3)412*

Correct Ans : D

Q.No: 22
2408934 The wrong statement about ammonia is-

AT & IR F 7TAd HY ©
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NH, is oxidised with oxygen at 700°C in the presence of platinum

A
FAfAar carfea#s $r 3ufeafa #7o0°c W 3R
& |T AR aldl 6
NH, gives black precipitate with calomel
B
Sellee & AT NH, HTT 3daTT gl ol
NH, can be dried by P,0;, H,SO, and CaCl,
C
NH, &I P,04, H,S0, @ CaCl, SaRT T@TT AT HeveT 5
NH, gives white fumes with HCI
D

NH, HCI & HT2 ¢ I &l 81

Correct Ans : C

Q.No: 23
2408935 Which of the following trihalides is not hydrolysed?

7 & ¥ B gIge eSS Serifod et g 8-
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PF,
A

PF,

PCl,
B

PCl,

AsCl,
C

AsCl,

SbCl,
D

SbCl,

Correct Ans : A

Q.No: 24
2408936 In the compounds of the type POX;, P atoms show multiple bonding of the type -

POX, # P WA & &R fa ager derdhar gafdr s -
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pr—pm
A

pn—pm

dn—dn
B

dn—dn

pn—dn
c

pn—dn

pr+dn
D

pr+dn

Correct Ans : C

Q.No: 25
2408954 H>S cannot be dried by passing over conc. HySO4 because -

H,S & Hleg H,S0, CaRT 256 A1 [T SATdT &, FilTdh -

A The acid oxidises it
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Firefox
3 B SATRfpd HaT 8
The acid combines with H;S to form a salt
B
T | YA FIHR qaquT gl &
Both form complex
C

a1 Sifed S 21

It dissolves in the acid

g 3| ® ga-Ria g1

Correct Ans : A

Q.No: 26
2409036 In [Cr(C,0,).F". the isomerism shown is —

[Cr(C,0,),J- & o T &l gH1agdadr I9iedd gl g -

Ligand
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Optical
B
AR
Geometrical
C
LG
Ionization
D
NIUEE)

Correct Ans : B

Q.No: 27
2409037 Ty, the complexes [Fe(H,0),F*. [Fe(CN),J**. [Fe(C,0,).F- and [FeClJ~. more stability is shown by —

e sifear A1RT®T [Fe(H,0).J*, [Fe(CN).J*, [Fe(C,0,).)- TAT[FeCl-, F & gaita® wariaca wafsta &<ar
= _

<Q

[Fe(H,0),F*

[Fe(H,0),F*
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[Fe(CN)F*
B

[Fe(CN)F*

[Fe(C,0,).}-
(o

[Fe(C,0,).}-

[FeClJ
D

[FeClJ

Correct Ans : C

Q.No: 28

2409038 (pe mole of the complex compound Co(NH,).Cl,, gives 3 moles of ions on dissolution in water. One mole
of the same complex reacts with two moles of AgNO; solution to vield two moles of AgCI(s). The structure
of the complex is —

dgd A1 Co(NH,).Cl, FTTUG HIATA H a4 IXAAAI b d A HId adT gl IHTAFA ST Uh AlAal AIA
AgNO, Faeras & aifsrfdar &< =T A AgCI(s) 3T gl HF e &1 G TATHE GA gl -
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[Co(NH,),CL]. 2NH,

A
[Co(NH,),CL,]. 2NH,
[Co(NH,),CL] CL. NH,
B
[Co(NH,),CL,] CL. NH,
[Co(NH,),C1] CL,. NH,
C
[Co(NH,),C1] CL,. NH,
[Co(NH,).C1] C1,
D
[Co(NH,).C1] C1,

Correct Ans : D
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Q.No: 29
2409039 In the coordination compound K,[Ni(CN),]. the oxidation state of nickel is —

IuHgEA ST A1 K [NI(CN),) 5 e & siiaiisor sra«4r gl -

0o
A

0o

+1
B

+1

+2
C

+2

-1
D

-1

Correct Ans : A

Q.No: 30
2409130 Glycerol reacts with nitric acid to form an explosive compound called nitroglycerine having the structure:
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fereRTa, Asfew ond q U fawpies, Ageifie™sl= a-rar §, e Tem &:

CH,OH
HOH
CH,~O-NO,

CH,OH
HOH
CH :—O—N 02

CH,OH
H-O-NO,
CH,OH

CH,OH
H-O-NO,
CH,OH

CH,—O-NO,
H-O-NO,
CH,—O-NO,

CH,~O-NO,
H-O-NO,
CH,~O-NO,
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CH,—O-NO,
H-O-NO,
CH,OH

CH,~O-NO,
H-O-NO,
CH,OH

Correct Ans : C

Q.No: 31
2409131 Crotyl alcohol has the structure:

Hifed Vehlgld dI AT T §:

CH2=CH—CH20H

A
CH2=CH—CH20H
CH,=CH(OH)-CH
B
CH,=CH(OH)-CH
CHa~CH=CH-CH,~OH
C
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CH3—CH=CH-CH,~OH

CH(OH)=CH-CH;

CH(OH)=CH-CHj

Correct Ans : C

Q.No: 32
2409132 The missing structures A and B in the reaction sequence :

R-CH,~CH,0H 4222 , R-CH=CH, ——2—— RCHO + A

= @ 2. 0" Reduce
are given by the set : B
)0
R-CHy~CH,0H 2% R-CH=CH, —— -5~ RCHO + A
' I Reduce |

H A TAT B FHT: HT 2 -

CH;0H, RCOOH

CH,0H, RCOOH

Methanal, RCH,OH
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Fiafer, RCH,OH

Ethanal, RCOOH

TJTd, RCOOH

Methanal, RCHOHR’

AYFTA, RCHOHR’

Correct Ans : B

Q.No: 33

2409133 The missing structures A and B in the reaction sequence :

CHa—CH=CH, —2% , A _H202 - NaOH

CIRIERIEGE L
CH3-CH=CH, 226, A 1202 7104 , g

FA AT BT AT FAT: FTE

CH3~CHp~CHy-BH,, CH3—CH,~CH,0H

CH3~CH,—~CHy—BH,, CH3—CH,~CH,0H

B are given by the set :
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(CH3CHCH),BH, CH3~CH,~CH,0H
B

(CH3CHCH),BH, CH3~CH,~CH,OH

(CH3),CH-CH,-BH,, CH,~CH(OH)-CH
C

(CH3),CH-CH,-BH,, CH,~CH(OH)-CH

(CH3~CH,~CHy)s B, CH3~CH,—CH,0H
D

(CH3-CH,—CHy)3 B, CH3~CH,~CH,OH

Correct Ans : D

Q.No: 34

2409177 Pentane-2-one differs from pentane-3 one in that :

37-2-31H 3R U=4-3 3 frg yoR A 81 §:

Pentane-2-one does not give iodoform test

ART-2-311 ImarSIw i wfieror 98 a1

Pentane-2-one gives iodoform test
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ARH-2-311 ITAISIBIH uheror ar 2

Pentane-3-one gives iodoform test
YR-3-3H17T TAISIwIH uheror 3ar 3

Pentane—2-one does not react with NaHSO,

UeeA-2-3A NaHS 0, % &1 T a1 HLar

Correct Ans : B

Q.No: 35
2409178 Aldehydic group can occur :

ufeaise Tig IufRd & ol 3:

Any where in the carbon chain
P y@ar ¥ st off
In the middle of the carbon test

P y@ar & 7T o
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Only at the second carbon atom of the chain

Fada g & fgdia Fra- WA wR

Only at the end carbon atom of the carbon chain

P BT g & A BT IRATY W

Correct Ans : D

Q.No: 36

2409185 KOH Bp . Alc. KOH Hg? | NHoOH . _ .
A—SEEH 5B —25C Nani, D aingso; #1228 (CH,),C = NOH [A] i -
A—SE85B—225C ‘::zr:(no; >D anHng.szog > E —28% (CH,),C = NOH [A] z:
CH,CH,Br

A
CH,CH,Br
CH,CH,CH,Br

B
CH,CH,CH,Br
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CH,CHBI,
C
CH,CHBI,
CH,CH,CHBT,
D
CH,CH,CHBT,

Correct Ans : B

Q.No: 37
2409187 Acetone on heating with ammonia produces:

g 7 o9 o1 Ide THieH &) M & 1Y TH B9 W §1dT 8

Acetaldimine

A

Diacetone alcohol
B
(o Diacetone amine
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SRTHeH T

Hydrobenzamide

TR ISSIHIES

Correct Ans : C

Q.No: 38
2409272 CH;CONH,, Br, & KOH. give CH3NH, as the product. The intermedates of the reaction are :

O O Br
i

I |
[a] CH3— C —NHBr [b] CH3-N=C-O [c] CH3NHBr [d] CH3—C—N\
Br

The correct answer is :

CH3CONH,, Br, TT KOH #T T 4T %1 &7 3912 CHyNH, 74T 21 38 ATH AT 6T Je7 Jreg 4% 2

0 O Br
I I
[a) CH3— C -NHBr [b)CH3-N=C-O  [c] CH;NHBr [d) CH5-C —N\
Br
Tl I

a, b
A

a b
B a c
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a, c

b, d
C

b, d

c d
D

c d

Correct Ans : A

Q.No: 39
2409273 Gabriel phthalimide reaction is used in the preparation of:-

et AefigArzS aif¥fshar e & fover & uged gt &

Secondary amine

A

fodfae =

Primary aliphatic amine
B

i i
C Primary aromatic amine
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WYHE gftsfes TiA

Tertiary amine

(LRI

Correct Ans : B

Q.No: 40
2409282 In which case alkylamine is not formed :

e siftyferar & Sfcwra UHH =78 &
R-X + NH; -

A
R-X + NH; —>
R-CH=NOH + [H] —=—

B
R-CH=NOH + [H] —=—
R-CN +H,0 __H* |

(o)
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R-CN +H,0 __H" |

RCONH, + 4[H] —LiaHs

Correct Ans : C

Q.No: 41
2403385 Down syndrome is caused by?

137 RigH fhg® SR gl 22

Virus

fammgy

Bacteria

Sitarg

Protozoa

mersa
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Chromosome disorder

RUGERCEH

Correct Ans : D

Q.No: 42
2403386 Which acid is present in spinach?

Ui § PIH-9T 3%t HIGE eIl 87
Lactic Acid
A
dffe® ond
Formic Acid
B
BIfH® 3T
Oxalic Acid
(o
SiTeATfere 3r
Tartaric Acid
D

TR e
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Correct Ans : C

Q.No: 43
2403387 What kind of joint is present in our knee?

IR Ye ¥ {59 avg o7 IfY Aivg 872

Ball and Socket Joint

A
Pom-@ierad iy
Hinge Joint
B
fe== |fy
Fixed Joint
C
3rad |fe
Pivotal Joint
D

R |y

Correct Ans : B

Q.No: 44
2403390 Biomass is converted into biogas in the absence of
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TN F S | o1 sufRufa o ufvafda fasar smaT @ |

Water

Oxygen

ffefter

Vegetable waste

3rufRry wfssral

Soil

fargt

Correct Ans : B

Q.No: 45
2403433 'THE PROBLEM OF THE RUPEE’ book is written by

G WiscH T & SO R R foredt € R

A Dr. Bhimrao Ambedkar
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3. HR1T srdsHr

Raghuram Rajan

B
YRTH TSI
Amartya Sen
C
e A9
Jawaharlal Nehru
D

ECIRGIGE RS

Correct Ans : A

Q.No: 46
2407801 From which region of Madhya Pradesh is Samrat Ashoka’s wife said to have belonged?

HYTC 32 b1 Uedl b SR H el Sfiell ¢ fob 3 Heg e & foby & § Feiftrd g

Indore
A
B Raisen
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AT

Vidisha
(o

fafe=m

Mhow
D

Hg

Correct Ans : C

Q.No: 47
2407811 India has 11 agro-climatic zones. How many of them are in Madhya Pradesh?

YRA B 11 B Searg 8 &1 I § fpa A wew 7 72

2
A

2

4
B

a4
C 6
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11

11

Correct Ans : D

Q.No: 48
2407822 In which year was Nida Fazli awarded the Padma Shri award by the Government of India?

11 WTorett B URd WNHR R {59 v 7 ft REHR & g fovan mar ure

2010
A

2010

2013
B

2013

2016
C

2016
D 2019
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2019

Correct Ans : B

Q.No: 49
2407831 'Tipitaka’ is associated to which of the following religion?

fRefteer Fufifed § @ g o § d6fid 2

Jainism
A

o9 g

Sikhism
B

Rrg ot

Buddhism
C

dtg o

Hinduism
D

feg ud

Correct Ans : C
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Q.No: 50
2407841 Which of the following river is known as Tsang Po in Tibet?

frafafed # @ fow 7d 1 fossa & 9t & A J <1 ST 82

Ganga
A
I
Indus
B
Ry
Brahmaputra
C
SqA
Godavari
D
Meradt

Correct Ans : C
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Q.No: 51
2407845 The area which receives maximum heat is known as:

fYHTH aTT T A a1 & Y b & 19 F ST offel B

Torrid Zone

A
Iy Hfedy
Temperate Zone
B
it wfedy
Frigid Zones
C
<ia sfesy
Both (a ) and (b))
D

3T (a) 3R (b)

Correct Ans : A

Q.No: 52
2407847 What is the pressure of air at sea level?

% I W a1 BT S fbaT eIl 82
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High
A

3

Low
B

H

Moderate
C

HOH

Zero
D

RG]

Correct Ans : A

Q.No: 53
2407946 Which of the following is a folk music of Jammu Kashmir?

frofifad & ¥ SH-u1 o R &1 % i 32

Sana Lamok

T ATHIG
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Daskathia
B
AU
Laman
C
qHA
Chhakri
D
TP

Correct Ans : D

Q.No: 54
2407947 Koodiyaattam is a traditional

FHISAEH HIA T Th URURS
Dance
A
TP T4
Music
B
ifta

form of Kerala

U g
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Theatre
C

T

Painting
D

g

Correct Ans : C

Q.No: 55
2407948 Which of the following dance form is from Tamil Nadu?

frofofad & ¥ oF-u1 7o afterg ¥ 82
Kathakali
A
FYBAL
Kathak
B
YD
Bharata Natyam
C

Hd ATH
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Kuchipudi

plagst

Correct Ans : C

Q.No: 56
2407949 In which state the Giddha dance is performed?

freT 7 fpw g & o Sman €2
Haryana
A
giamom
Punjab
B
UolTd
Uttar Pradesh
C
IR U
Jammu and Kashmir
D

W 3R HIHR
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Correct Ans : B

Q.No: 57
2408004 Which of the following is type of Direct Tax?

fRoffed & @ &9 91 Uda H T UPR 8?2

VAT Tax

de e

Income Tax

Service Tax

Jar HR

Excise Tax

TRITSS eI

Correct Ans : B

Q.No: 58
2408006 Which of the following is not a fixed capital?
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frofafed & 9 oF-u1 we Py ool 78 82

Turbine

CLlE

Computer

HH

Money

LL)

Building

Haq

Correct Ans : C

Q.No: 59
2408008 What is gross primary deficit?

bl UTUfHh OTeT T 72

A Revenue deficit - non debt creating capital receipt
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Revenue deficit - net interest liabilities

B

TSI °TeT - Y TSl ASINar

Fiscal deficit — net interest liabilities
C

DI °TET - (& AT Sgmar

Fiscal deficit - non debt creating capital receipt
D

ISTH I TTeT - R-FH0T Yo wifty

Correct Ans : C

Q.No: 60
2408009 Which of the following is the correct formula for calculating National Income (NI) from Net National Income (NNP)?

75 & @ pH-91 fad TP 3 (NNP) I IETT ST (NI) ST 0T XA HT F61 BIUam 52

NI = NNP + indirect taxes - subsidies — depreciation

NI = NNP + 3U& o - Afs! - Teag™

B NI = NNP - indirect taxes + subsidies
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NI = NNP - 3™ 3 + gfoys!

NI = NNP - indirect taxes + subsidies — depreciation

NI = NNP - 34 & + Afs! - Teag™

NI = NNP + indirect taxes - subsidies

NI = NNP + 38 &Y - 9foda!

Correct Ans : B

Q.No: 61
2405405 Which of the following quantities is dimensionless?

frefafed Tkl # @ S i e g2

Gravitational constant

A
TRETHYYT i
Plank’s constant

B
wie fAadaie

C Power of a convex lens
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Id A DI &l

Strain

GEIE]

Correct Ans : D

Q.No: 62
2405406 Which of the following is a unit of distance?

PR # 3 F o 3 T 35T 27
Torr
A
R
Light year
B
UBTRT T
Second
C
Jbs
D Joule
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Correct Ans : B

Q.No: 63

2405407 Dimension of electric current is:

faqga urT &1 famm 8-

MLOT-1Q]

MLOT-1Q]

ML?T-1Q]

ML?T-1Q]

IM2LT Q]

IM2LT Q]
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IM2L2T-1Q]

IM2L2T -1Q)]

Correct Ans : A

Q.No: 64
2405408 One million electron volt (1 mev) is equal to-

T R Sdag Sl (1 mev) SRR &-

10°eV
A
10°eV
10%eVv
B
10%eV
10%eV
C
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10%eV

107eV

107eV

Correct Ans : B

Q.No: 65
2405427 The acceleration due to gravity is g at a point distant r from the center of earth of
radius R. if r < R then.

gedl fr BT R § T 59& &g § 1 gl W &A™ @0l g ¢l IGr < R, d&-

gocr?

gocr?
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g o< r-!
C .
g o< r!
. ]
goxr?

D
goxr?

Correct Ans : A

Q.No: 66
2405428 If the earth losses its gravity, then for a body-

gfe gt e @I ¢ ot a%g -

Weight becomes zero, but not the mass

A

R YT ENT AT goaar 81

Mass becomes zero, but not the weight
B

AT [ RN AfhT HR 6T

Both mass and weight become zero
C

W 9 YR g1 I g1

https://mppeb.cbexams.com/MPPEB LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

15-12-2021, 11:06



Firefox https://mppeb.cbexams.com/MPPEB LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

Neither mass nor weight becomes zero

T o) SeaH 3R 7 8§ YR Y g

Correct Ans : A

Q.No: 67
2405439 The acceleration due to gravity near the surface of a planet of radius R and density d is proportional to-

TH 78 et ST R 9 991 d 8, 31 9d8 & U TRy @vul JHHUT &-

dR?
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dR

M| A

d
R

Correct Ans : C

Q.No: 68
2405443 When a disc rotates with uniform angular velocity, which of the following is not true?

e U & e wHE Sl 3 & g 7, @ Fefarad ¥ s s 9d T8 82

The direction of rotation remains same

A

ol &1 fiwn o € et @

The orientation of the axis of rotation remains same
B

3l BT SYTINBHIN U 5T &

The speed of rotation is non-zero and remains same
C

YUl P} T1e LT G JHM gl 8
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The angular acceleration is non-zero and remains same

PV ©RUT 3T § JHH IgdT &
Correct Ans : D

Q.No: 69
2405444 Ty stable isotopes §Li and ]Li have respective abundances of 7.5% and 92.5%. These

isotopes have masses 6.0152 u and 7.01600 u respectively. The atomic weight of lithium is-

ar PR 3msaRed §Li 3R ] Li 1 I9Xan RN 7.5% 3 92.5% §1 34 IMSHAH F
GedA FAM: 6.0152 u 3R 7.01600 u §1 MfATH FT AT W B-

6.941 u
A

6.941 u

3.321 u
B

3.321 u

2.561 u
C

2.561 u
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0.621 u

0.621 u

Correct Ans : A

Q.No: 70
2405458 If force (F), Length (L) and time (T) are assumed to be fundamental units, then the dimensional formula of the mass will be-

e §6 (F), T8 (L) 3R I0T (T) S Jd SHIsA AFT o1, A Sq HT faeia wefieor gi-

R FL-1 T2
FL-1 T2
. FL-1 T-2
FL-1T-2
c FL-1T-!
FL-1T-!
5 FL*2 T2
FL*2 T2

Correct Ans : A

Q.No: 71 —
2405461 The electric potential at a point (%, y, z) is given by V=- x? y - x23+ 4. The electric fieldE at

that point is-

T g (x,y.2) W faegd fas@ v f6ar oidr & v=-x?y-xz®+4, 38 g W
facad & E §-
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E = %(2zy+z3) —{—3.7:2 + k3z2?
A
E= %(2my+z3) +3m2 + k3z22
E =i2zy+ j(2® + ) + k(3zz — 3?)
B
E =i2zy+ j(2® + ) + k(3zz — 3?)
E= §z3+3’zyz+icz2
C
E = ;Jza-i-_}':cyz—i—icz?
E = '2(2a:y—z3) +3’a:y2+ic3z2m
D
E = %(2a:y—z3) +3.7:y2+ic3z2m

Correct Ans : A

Q.No: 72
2405462 A proton and an electron are placed in uniform electric field-
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TP W 3R gade Uh ThaHH fagygd &F # I 9 8-

The electric field acting an them will be equal

A
1 R ol X IR fagga &7 wRmaw g
The magnitude of the force will be equal
B
al BT IR JHE g
Their acceleration will be equal
C
ISP @RI A gt
The magnitude of their acceleration will be equal
D

I @1 BT UROIMTH FHE B

Correct Ans : B

Q.No: 73
2405463 If E is the electric field intensity of an electrostatic field, then the electrostatic energy density is proportional to-

afe U faggd &7 ot fagygd & @t fuar E §, @ RR faggd S 9@ g 3-
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VE?

1/E?

Correct Ans : B

Q.No: 74
2405464 The mean free path of electrons in ametalis4 x 10~ m. The electric field which can give on

an average 2eV energy to an electron in the metal will be in units V/m-

U oiq A SoFCiA F AT HEd 9¥ 4 x 105 W B, A aig A fega &7, S
soEclel @1 3T 20V FSSIM, Vim SFE F &
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8 x 107
A

8 x 107

5x 10711
B

5x 101

8 x 1071
C

8 x 10711

5 x 107
D

5 x 107

Correct Ans : D

Q.No: 75
2405471 In good conductor of electricity the type of bounding that exists is-

T faggd & garas § o UeR su i1 8, 98 HKId 9l -
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Vender walls

A
aisy ared
Covalent
B
g dUSH
Ionic
C
mafie
Metallic
D
o1g BT (Aefere)

Correct Ans : D

Q.No: 76
2405476 The probability of electrons to be found in the conduction band of an intrinsic semiconductor of finite temperature is:

TS SodeH BI AT domE & Hiake iearad & aae 98 § OH &1 Wiied 5-

Increase exponentially with increasing band gap

Aol & Fedl @ 9 AU g1 & "1y
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Decrease exponentially with increasing band gap

B

Aht | gedt § 95 U ge F WY

Decrease with increasing temperature
C

AT g¢ F Ty edl @

Is independent of the temperature and band gap
D

AUET SR ¥ AU A wWaT

Correct Ans : B

Q.No: 77

2405480 Escape velocity on the surface of earth is 11.2 km/s. Escape velocity from a planet whose mass is the

. 1 .
same as that of earth and radius y that of the earth is-

gedl FI Fag W Taa a9 112 FalA. 81 v 75 g aegae 9edl & goadaa &
areR ¥ 3R B gudt 4 Boar iy s (3) &, F gome dor g

2.8 km/s

2 8 TR,
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15.6 km/s
B
15.6 fReTA.
22 4 km/s
C
22 4 THATE.
44 8 km/s
D
44 8 AT,

Correct Ans : C

Q.No: 78
2405537 Two resistors of resistance R; and R; having R; = R; are connected in parallel. For equivalent
resistance R the correct-

& YT fSed gfdder Ry AR R §, Ri > Ry) WA 3 §U &1 3a% FAded
gfaier R& fw &g & 8-

R >R; + Ry
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R=>=R+Ro

R; <R < Ro»

R, <R <R»s

Ry <R < (R; + Ra)

Ry <R < (R; + Ra)

R <R,

R <R,

Correct Ans : D

Q.No: 79
2405538 The effective resistance between the point A and B in the figure is-
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fo & SR figstt A ok B & offg gurdt wfaRly &-

D

50

50
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2Q

3Q
C

30

4Q
D

4Q

Correct Ans : B

Q.No: 80
2405542 The current I in the given circuit shown is-
2V
2 s 20
2V
| ' T 2V
feu ™ wfdhe & yr1 1 &1 A -
2V
2 20 20
2V
I T 2V
A 1.33 A
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1.33A

Zero

2.00 A

2.00 A

1.00A

1.00A

Correct Ans : A

Q.No: 81
2405543 Three resistances 2Q, 3Q and 4Q are connected in parallel. The ratio of currents passing through
them when a potential differenceis applied across its ends will be-

e 9feRTer 20,30 R 4Q FATR # I3 §I § 38 da dlell URT & IAUId, i
saa O o) fastarax fear = g, ghen-
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6:4:3
A

6:4:3

4:3:2
B

4:3:2

6:3:2
C

6:3:2

5:4:3
D

5:4:3

Correct Ans : A

Q.No: 82

2405549 pan filled with hot food cools from 94°Cto 86°Cin 2 minutes when the room temperature is at 20°C.

The time taken to cool it from 71°C to 69°C is-
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FAY & dGATT 20° AToTIT W Th dd To1Te 3H Q@1 @ ¢, 2 @ae & o4 afcqaa @
86° JfoTITT TUATT W @I AT &l 71° FfcTaa T 69° AfeTaq WX 83T gl & o= ol
AT B-

12 second

12 Y&s

22 second

22 AHs

32 second

32 &S

42 second

42 A5

Correct Ans : D
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Q.No: 83
2405550 Two rods of equal of length and diameter have thermal conductivities 3 and 4 unit respectively. If they are joined in series, the thermal conductivity of the

combination in the given units would be-

3 ©8 @] dars 7 U YA 8, B SO el HHTT: 3 3R 4 SHIs ¢ afe Ts! &I 4ot § Sis a1 91 o Ygad 38 &1 ST Iradwdr gifl- (3978 H)

3.43
A

3.43

4.43
B

4.43

5.43
C

5.43

2.43
D

2.43

Correct Ans : A
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Q.No: 84
2405554 The thermal radiation from a hot body travels with a velocity of-

e T fivs & Suiy faferur i 3 F 9ad §-

330m s !
A
330m s !
2% 10° ms!
B
2% 10° ms!
1200 m s}
C
1200 m s !
3x10°ms™!
D

3x10° ms!

Correct Ans : D
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Q.No: 85
2405567 In intrinsic semiconductor has a resistivity of 0.05 Om at room temperature. Find the intrinsic carmier

concentration, if the mobilities of electrons and holes are 0.39 m? V-! 571, and 0.11 m? V! s°! respectively.

vH sfecfegsd (3MaRe) 3icarad T 9faIueddrn, #AY & a9 IR 0.05 Om ¢l I seiaci
3R grew &1 arfaeherdr saen 039 m2 V2 51 3R 0.11m? V1 51, R algel Figdl A -

1.2 x 10 m-3

A
1.2 x 10" m-3
2.5 x 10" m-3
B
2.5 x 10" m-3
1.9 x 10 m-3
C
1.9 x 10 m-3
3.1 x 10*! -3
D

3.1 x 10% -3
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Correct Ans : B

Q.No: 86
2405568 In pure semiconductor, the number of conduction electrons is 6 x 10!8 per cubic meter. How

many holes are there in a sample of size lem X lem % 1 mm?

A &R A, TleTh Jolagld Bl FEAT 6 x 1018 9fd gel MeT g1 AR 1 A x
1 3« 1 e F e 7 gow o &

3 x 10Y°
A

3 x 10Y°

6 x 10
B

6 x 10M

3 x 101!
C

3 x 101
D 6 x 1010
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6 x 1010

Correct Ans : B

Q.No: 87
2405581 The figure below shows currents in a part of electric circuit. The current i is-
2 amp 1 amp
1.3 amp
2 amp

fou U o B, 3aifdee Tfbe & uril & urT o w@ 81 uRT i B-

2 amp 1 amp

1.3 amp

2 amp

1.7 amp
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1.7 TR

3.7 amp

3.7 TR

1.3 amp

1.3 TR

1 amp

1 TfRrR

Correct Ans : A

Q.No: 88
2405628 Which of the following unit is a unit of power?

ffafed & o1 @ o1 TR (Power) 31 3518 &2

Kilowatt hour

fpeare ger

Watt
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qic
Erg
C
3rf
Calorie
D
Far

Correct Ans : B

Q.No: 89
2405631 The phase difference between two waves represented

y1 = 10 Ssin [100t +(%)+ 0.5] m

y2 = 10 % cos [100t +(%) | m

Where x is expressed in meters and t is expressed in second.

& TN & dF FAR BI USRI g 8-
y1 = 10 %sin [IOOt *(é{;)* 0.5] m
y2 = 10 ©cos [100t +(%) | m

SRl x HieX # SIR t IS H &-
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1.5 rad
A

1.5 rad

1.07 rad
B

1.07 rad

2.07 rad
C

2.07 rad

0.5 rad
D

0.5 rad

Correct Ans : B

Q.No: 90

2405751 The equation of stationary wave along a stretched string is givenbyy = 5 sin?cos 40ttt where

x and y are in cm and t in second. The separation between two adjacent nodes is-

Ue Wid v &9 & g, ﬁﬁmmﬂmm%—y=55in?cos4omaﬁx
ARy T A § 3R tJFUS A B gF e Alsd & §1g HK &-
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1.5cm
A

1.5 9

3cm
B

3 9t

6 cm
C

6 I+t

4 cm
D

4 g1t

Correct Ans : B

Q.No: 91

2407298 A convex mirror of focal length f forms an image which is i times the object. The distance of the

object from the mirror is:
1
T Sccel GUOT frareh Wi gl £8, a6 1 — I+ fafeesr Sefiar & avg Fr o A gl &-
A (n-1)f

91 of 100 15-12-2021, 11:06



Firefox https://mppeb.cbexams.com/MPPEB LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

(n-1)f

B
(5
(%)
C
(5
(n +1)f
D
(n+1)f

Correct Ans : A

Q.No: 92
2407301 A square wire of side 1 cm is placed perpendicular to the principal axis of a concave mirror of focal length 15 cm at a distance of 20 cm. The area enclosed by the

image/jpg of the wire is:

TF 15 I e g ard saad U F 20 It Bt g8 W, G 9l & Twad Yo 1 At a1d FHR IR Y @ ST g1 IR & Ufafard gRT ERT T &% B

4 cm?
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4 TR

6 cm?

6 T

2 cm?

9 cm?

9o [

Correct Ans : D

Q.No: 93
2407304 Given a point source of light, which of the following can produce a parallel beam of light?

TR &1 foig wid fear mar g1 Fafafed & @ 19 ys™r &t IuFiaR §19 309 IR Gl 82

Convex mirror

Faa guur
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Concave mirror

B

3qad guur

Concave lens
C

aad A

Two plane mirror inclined at an angle of 90°
D

&Y Tl GUOT Teh G A 90° T &HI0T ATt G2

Correct Ans : B

Q.No: 94
2407307 A virtual image/jpg larger than the object can be obtained by:

T % § TS MU vfafasa e ) S Jhet 8

Concave mirror

Jaad guur
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Convex mirror

B
Iad guur 9
Plane mirror
C
quad gdur |
Concave lens
D

3add 49 I

Correct Ans : A

Q.No: 95
2407528 Two particles execute SHM of same amplitude and frequency on parallel line. The pass one another when moving in opposite direction each time when their

displacement is half of the amplitude. The phase difference between them is-

3l B AR T TR T S 3R Mgy ¥ TR ATad Td R &1 af Th guR &1 fAusid fo=n & = §U 19 oxd § 8% IHT 5d 3o [T, S| &1 3147 8T §, &

J7P dF HelieR B-
0
A
0
2T
B 3
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oA

6

Correct Ans : B

Q.No: 96
2408212 In an electroplating experiment, m gm of silver is deposited when 4 ampere of current flows for 2 minutes. The amount (in gm) of silver deposited by 6 ampere

of current for 40 second will be

T faggd AU JaNT ®, O 4 THIRR & 4RT BT 2 BF3f 9% S8 S O m I diat o T Bl 81 40 IS & ol 6 TiliaR &t yRT 9grit oI df 9rd} &t AE (o 7)) o gt -

4m
A

4m

m/2
B
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m/2

m/4
C

m/4

2m
D

2m

Correct Ans : B

Q.No: 97
2408213 The production of e.m.f by maintaining a difference of temperature between the two junctions of two different metals is known as

3 = ergait & &Y st & off9 agHH & 3R &I s W g9, fagyd are® aa &1 SdTe, Hedrd & -

Joule effect

A
oo ghae
Seeback effect
B
9w shae
Peltier effect
C
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TR 3hae

Thomson effect

YTHIA Shae

Correct Ans : B

Q.No: 98
2408321 Three equal resistors connected in series across a source of e.m.f together dissipated 10 watt. If the same resistors are connected in parallel across the same

e.m.f then the power dissipated will be

& T ufeRiel &1 9oft &t faggd ae® 9@ & Wid 9 o o 91 & 10 dre feRite #rd § 3¢ 98t iRy IumiaR & 93 @, U1 fdggd as aa of 98t g, ot ureR fefes gift -

10 watt
A

10 gl

30 watt
B

30 dic

20 watt
C

20 dic
D 90 watt
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90 dic

Correct Ans : D

Q.No: 99
2408322 In a large building, there are 15 bulbs of 40w, 5 bulbs of 100w, 5 fans of 80w and 1 heater of 1kw. The voltage of the electric mains is 220V. The minimum

capacity of the main fuse of the building will be

U% 931 3URA #, 40w & 15 Ted, 100w & 5 §ed, 80w P 5 T 3R 1kw FT Ud giex 71 faggd A= &7 Siees 220V 81 SHRA & Jd TS Bi FHeas enfar g+t -

8A
A

8A

10A
B

10A

12A
C

12 A

14 A
D

14 A

Correct Ans : C
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Q.No: 100
2408335 An electric bulb is rated 220 volt and 100 watt. Power consumed by it when operated on 110 volt is

U 3Afded 9ed BT &R 220 dlee 3R 100 dic 81 39 gRT STANT Bt gt TR, O 110 dee R FHT favar o ot §

50 watt
A

50 dic

75 watt
B

75 dic

90 watt
C

90 aic

25 watt
D

25 qic

Correct Ans : D
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Submit
Q.No: 1
2406210 Partial pressure of solid is taken as ____ . Molar concentration of pure solid or pure liquidis __
3 BT 31ifb a1 FEIARA AT R YE SN AN IS A BT AR G g g
unity, constant
A
THal, RRI®
unity, variable
B
Thdl, I
zero, constant
C

3, RR
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zero, variable

T, R

Correct Ans : A

Q.No: 2
2406212 (hoose incorrect statement:

(i) If Oc > Kc, system proceeds in forward direction to attain equilibrium.

(i) If Qc > Kc¢, system proceeds in backward direction to attain equilibrium.

(iii) Relation between equilibrium constant (Kc), reaction quotient (Qc) and Gibbs energy is
(G).

AG=AG°+RTInQc

&AG® =-2.303RT log Kc (at equilibrium)

(iv) Relation between equilibrium constant (Kc), reaction quotient (QOc) and Gibbs energy is
(G).

AG=AG°-RTIn Qc

&AG® =-2.303RT log Kc (at equilibrium)

2 of 100 15-12-2021, 11:08



Firefox https://mppeb.cbexams.com/MPPEB_LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

mawaﬁ:

(i) TfE, Qc > Ke Hetel 9Ied &el & folw Jorel 3mar & fger # 3T Jed gl

(ii) TG, Qc < Ke Heerel Tied &t & folw gomelr odt Gar 7 3wt sedr 81
(iii) Herer Eerien (Ke), gfdfsar smrser (Qc) 3R Fieq a1 (G) & dra d@ew &
AG =AG®+ RT In Qc

&AG®=-2303RT log K¢ (Fdelel )

(iv) HeleTel oo K¢) wfaferar smarmel (0c) 3k s 56l (G)% & dew &
AG =AG°~RT InQc

&AG°=-2303RT log K (Tdere )

(i) and (ii)
A
(i) 3R (ii)
(iv) only
B
(iv) Faa
(i) and (iv)
C
(iii) 3R (iv)
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(i), (ii) and (iv) only

(), (ii) SR (iv) Paa

Correct Ans : D

Q.No: 3

2406215 Is a system in equilibrium is subjected to a change of concentration, temperature or pressure, the equilibrium shifts in a direction that tends to the effects
of changes imposed.
T Gga § TP Yot THIT, 99 91 ga1a & gRaaH & 3+ §, Ige U faxn § Sad ol § o T T GRGcHI & JHTE & fog e g1
increase

A
accelerates

B
aw
undo

C
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Increase and accelerates both

gfs 3R ot gt

Correct Ans : C

Q.No: 4
2406217 If a stress is applied to a reaction mixture at equilibrium, reaction occurs in that direction that the stress. Above statement is related to
e Tge W fafsrar fyor )R we arg ar] faan wran 8, o wfafsrar 39 fo=n & i & f TG IR HYUA Y Teiftd §
enhance, Arhenius concept.
A
T, 3R S@URum|
relieves, Le-chatelier’'s concept.
B
Ed ST 8, A-VRRR FI Sr@yRom|
enhances, Le-chatelier concept.
C
qerar 8, A-AforaR Sr@urum|
relieves, Arhenius concept.
D

Ied odT 8, SRefaY @uronm|
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Correct Ans : B

Q.No: 5
2406234 Math the appropriate options and choose the correct option.
When equationis : ‘equilibrium constant becomes’
(i) Divided by 2 (@)=
2
(i) Multiplied by 3 (b)K?
(ii1) Divided into 2 steps (c)K=K; XK,
(d)vK

IUgad fadmedl &1 TG HX 3R el fAded &1 999 B

ST FHIFIOT el § Hed U & ST &
() 2 & fasnfora (a)fzf
(i) 3 T (b)K?
(iii) 2 TN # fqsnfaa (c) K=K, XK,
(d) VK

@) | G | @i

@) | @i | @i
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@) | @i | @i

a b d
B
(i) | (i) | (i)
a b d
(i) | (i) | (i)
d b a
C
(@) | G | di)
d b a
(@) | G | di)
d b C
D

@) | @i | @i

Correct Ans : D

Q.No: 6
2406237 Choose correct option for reaction

NH,(aq.)+ H,O(l)= NH,(aq)+OH (aq.)
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[NH3(aq)]
o [ )] 0 (ag)] .
(i) K= [NHs(aq)][HZO(I)] ( H,0(/) being constant)
o [NH(ag)]
WK I, (ag) ] H.00)]
e ¥ R W e o

NH,(aq.)+H,0(l)= NH;(aq)+OH (aq.)

I:NHJ (_aq)][OH_' (aq.)]

et | NH,(aq)]

o o[ NH (aq)|[OH (aq)]

(i) K= [N, (ag) [ 00 ] (H,0(/) FaR g & amy)
i e £NH;i“q);| _

W= TN, (e [[7.00)]

only (i)

Fad (i)

8 of 100
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Only (ii)
B

Fad (i)

Only (iii)
C

Fad (iii)

Both (i) and (ii)
D

T (i) 3R (i)

Correct Ans : D

Q.No: 7

2406263 1£ 416 rate law of any reactionis K[R][S]?. Which of the following will not increase the rate of
reaction?
Ife frdr gfafshar &1 gx Faa K[R][S)? 81 Me=tfoif@d & & slet afdferar & gy A gfg a18r
HLEIM
Increasing the concentration of [R]

A

[R] & Wigar & i3
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Increasing the concentration of [S]

B

[S] ¥t Higar & g

Increasing the temperature
C

GIEEIGEHEI

Adding the catalyst to reaction
D

ISP &I ufaferar & SsT

Correct Ans : A

Q.No: 8
2406264 If any reaction is found to be zero order in S. Increasing the concentration of S by a factor of 3 will cause the reaction rate to -

afe s B IS Hfiferar I Hfe 3 org oIl §1 S B W1 H 3 & UGS B gfg B U ifferar o gl -

Increase by 27

27 B g3

Increase by 6

6 ot gf
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Increase by 9

9 # gfF

Remains constant

fRrwa e

Correct Ans : D

Q.No: 9
2406265 Which of the following factor lower the activation energy?

fafifad § & 91 SRS Ifhaur Fuif &I HH BT 82

Increasing the concentration of reactant

A

SfUPRS I Higdl T

Increasing the temperature of reaction
B

wfaferar & araa= # gis

Adding catalyst to reaction
C

ufafsear # IS ST
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Removing product as reaction proceeds

3IdIE B! ge P FU A ufafspar 3mt gedt @

Correct Ans : C

Q.No: 10
2406270 If any reaction is second order with respect to reactant, how is the rate of reaction affected of concentration is reduced to half.

e Pig iffspar sifiieRe & Tay & fgdia Fife &1 8, O Irsar I wwifad ifiifear &t R seh HI &) ot 82

Half
A
3TYT
Double
B
Remains same
C
TG EAT®
Zth
4
D
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Correct Ans : D

Q.No: 11
2407251 14
Half-life of 4€  (A=2.31x10%yr) is:
(;CM (A=2.31x10"yr) FI 314 3ﬂ'<’3_[,§
3
3x10° year
A
3
3x10° year
3
2x10° year
B
3
2x10° year
13 of 100
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3.4x10* year
3.4x10* year
4x10* year

4x10* year

Correct Ans : A

Q.No: 12
2407403 What does protium and tritium differ in?

TifeTm ok Rfeow frad fir g &2
Protons

A
Wer

B Neutrons
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g

Electrons
C

Both protons and neutrons
D

Weld 3R =geiq At

Correct Ans : B

Q.No: 13
2407405 Find the number of electrons and number of protons in 2 moles of O,

0, % 2 AT H aldcld 3 Fieisl FT G&AT AT HIFST|

19.27x10% electrons, 19.27x10% protons

19.27x10% Solgeie, 19.27%10% Yield

9.635x10% electrons, 9.635x10%* protons

9.635x%10% Solarclel, 9.635%10% WITTeT
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9.635x%10% electrons, 9.635x10% electrons

9.635%10%3 Seldrclel, 9.635% 102 GIcld

1.927x10% electrons, 1.927x10* protons

1.927%10%5 SolgFeiel, 1.927%10% Hield

Correct Ans : D

Q.No: 14
2407408 Which of the following can be explained using Bohr’s model.

fFafafed & @ 58 Sigr & disd gRT JHT ST 6T 8|

spectrum of atom other than hydrogen

A

BIZGIS & QTaT WRHTY BT WeagH

spectrum of atom of hydrogen
B

BISS o URUTY] T WaeH

finer details of hydrogen atom spectrum observed by using sophisticated spectroscopy technique
C
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Rpd ARSI THNP ST STH PP 3@ TT T3S I6 WA WaeH ST Ii® fAavor

ability of atoms to form molecule by using chemical bond

INIRAS ST BT ITANT HIP U] T & 1 AT B gran

Correct Ans : B

Q.No: 15
2408104 A solution of ethanol and acetone will show reactions as -

37T IR Tl &1 Ue faaaq, sififspanstt & foam-

Behave as a ideal solution

A

TS 3Mexl faeaq & ®U # sqagR &Y

Obey Raoult’s law
B

IS & T T Ut B

Show negative deviation from Raoult’s law
C

I¢ & Faw | Bunes faga- gz

Show positive deviation from Raoult’s law
D
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IS & A ¥ IeRTES faue feamn

Correct Ans : D

Q.No: 16
2408106 Relative lowering in vapour pressure of a solution containing 3 mole K;SO; in 54 g H,O is (Consider
100% ionised solution for K,SO4)

54g H,0 & 3 AT K,SO.arer faerad & arsy g & 3mifais a8 (K50 T 100% 3mafaga
faerad )X fTaaR &)

5418

5418

34

34

54

54

355

355
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Correct Ans : C

Q.No: 17
2408111 (galculate the molarity of a solution containing 10 g of NaOH in 750 mL solution. (In mol dm™)

750 ml fderTd # 10g NaOH arel [derad sl AleRdTr Iikahfeld chl 11 T | (mol dm3#)

0.433
A

0.433

0.533
B

0.533

0.667
C

0.667

0.334
D

0.334

Correct Ans : D
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Q.No: 18
2408135 Which of the following is incorrect statement regarding ideal solution?

e gAY & oy § Fufifad # ¥ SF 91 Y= Tad 872

Mix H=0,AmixV =0

A

Mix H=0,AmixV =0

Amix H >constant, Amix V = constant
B

Amix H >R, AmixV = RS

Solution of Benzene and Toulene one ideal solution
C

¥ iR g +1 O T el 9ia 7

Heat is not evolved neither absorbed during mixing
D

fArgor & R 9 A FoAT R Ria gt @ ok 7 & sra=ifya i 2

Correct Ans : B

Q.No: 19 A
2408798 The complex ions [Fe(CN)g]>~ and [Fe(CN)g]+~
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| AT [Fe(CN)g]*~ TAT [Fe(CN)g] - STil-

Are both octahedral and paramagnetic

A

APFAPT TUT STTHIY gl

Are both octahedral and diamagnetic
B

AFHABT YT HfagEaaIa B

Have same structure but different magnetic character
C

U WA WReg v grasia o1 vad g1

Have different structures but same magnetic character
D

R He=AT g HE TP 01 3@ B

Correct Ans : C

Q.No: 20
2408799 Which of the following contains one unpaired electron in the 4p orbitals?

fafafad & @ S Iod 4p ek H U AT Sade Wdl § -

A [Cu(NH3)7]™
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[Cu(NH3)7]™

[Cu(NH3)4]%*

[Cu(NH3)412*

[Cu(CN)4)3~

[Cu(CN)4)3~

[Ni(CNg) 2~

[Ni(CNg) 2

Correct Ans : B

Q.No: 21
2408800 Which complex has square planar structure?

BI-91 Qe a7l G SR @ § -
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Ni(CO)4
A
Ni(CO)4
[NiCl4]3-
B
[NiCl4]2-
[Ni(H;0)6]%*
C
[Ni(H0)]%*
[Cu(NH3)412*
D
[Cu(NH3)412*

Correct Ans : D

Q.No: 22
2408934 The wrong statement about ammonia is-

AT & IR F 7TAd HY ©
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NH, is oxidised with oxygen at 700°C in the presence of platinum

A
FAfAar carfea#s $r 3ufeafa #7o0°c W 3R
& |T AR aldl 6
NH, gives black precipitate with calomel
B
Sellee & AT NH, HTT 3daTT gl ol
NH, can be dried by P,0;, H,SO, and CaCl,
C
NH, &I P,04, H,S0, @ CaCl, SaRT T@TT AT HeveT 5
NH, gives white fumes with HCI
D

NH, HCI & HT2 ¢ I &l 81

Correct Ans : C

Q.No: 23
2408935 Which of the following trihalides is not hydrolysed?

7 & ¥ B gIge eSS Serifod et g 8-
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PF,
A

PF,

PCl,
B

PCl,

AsCl,
C

AsCl,

SbCl,
D

SbCl,

Correct Ans : A

Q.No: 24
2408936 In the compounds of the type POX;, P atoms show multiple bonding of the type -

POX, # P WA & &R fa ager derdhar gafdr s -
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pr—pm
A

pn—pm

dn—dn
B

dn—dn

pn—dn
c

pn—dn

pr+dn
D

pr+dn

Correct Ans : C

Q.No: 25
2408954 H>S cannot be dried by passing over conc. HySO4 because -

H,S & Hleg H,S0, CaRT 256 A1 [T SATdT &, FilTdh -

A The acid oxidises it
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Firefox
3 B SATRfpd HaT 8
The acid combines with H;S to form a salt
B
T | YA FIHR qaquT gl &
Both form complex
C

a1 Sifed S 21

It dissolves in the acid

g 3| ® ga-Ria g1

Correct Ans : A

Q.No: 26
2409036 In [Cr(C,0,).F". the isomerism shown is —

[Cr(C,0,),J- & o T &l gH1agdadr I9iedd gl g -

Ligand
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Optical
B
AR
Geometrical
C
LG
Ionization
D
NIUEE)

Correct Ans : B

Q.No: 27
2409037 Ty, the complexes [Fe(H,0),F*. [Fe(CN),J**. [Fe(C,0,).F- and [FeClJ~. more stability is shown by —

e sifear A1RT®T [Fe(H,0).J*, [Fe(CN).J*, [Fe(C,0,).)- TAT[FeCl-, F & gaita® wariaca wafsta &<ar
= _

<Q

[Fe(H,0),F*

[Fe(H,0),F*
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[Fe(CN)F*
B

[Fe(CN)F*

[Fe(C,0,).}-
(o

[Fe(C,0,).}-

[FeClJ
D

[FeClJ

Correct Ans : C

Q.No: 28

2409038 (pe mole of the complex compound Co(NH,).Cl,, gives 3 moles of ions on dissolution in water. One mole
of the same complex reacts with two moles of AgNO; solution to vield two moles of AgCI(s). The structure
of the complex is —

dgd A1 Co(NH,).Cl, FTTUG HIATA H a4 IXAAAI b d A HId adT gl IHTAFA ST Uh AlAal AIA
AgNO, Faeras & aifsrfdar &< =T A AgCI(s) 3T gl HF e &1 G TATHE GA gl -
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[Co(NH,),CL]. 2NH,

A
[Co(NH,),CL,]. 2NH,
[Co(NH,),CL] CL. NH,
B
[Co(NH,),CL,] CL. NH,
[Co(NH,),C1] CL,. NH,
C
[Co(NH,),C1] CL,. NH,
[Co(NH,).C1] C1,
D
[Co(NH,).C1] C1,

Correct Ans : D
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Q.No: 29
2409039 In the coordination compound K,[Ni(CN),]. the oxidation state of nickel is —

IuHgEA ST A1 K [NI(CN),) 5 e & siiaiisor sra«4r gl -

0o
A

0o

+1
B

+1

+2
C

+2

-1
D

-1

Correct Ans : A

Q.No: 30
2409130 Glycerol reacts with nitric acid to form an explosive compound called nitroglycerine having the structure:
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fereRTa, Asfew ond q U fawpies, Ageifie™sl= a-rar §, e Tem &:

CH,OH
HOH
CH,~O-NO,

CH,OH
HOH
CH :—O—N 02

CH,OH
H-O-NO,
CH,OH

CH,OH
H-O-NO,
CH,OH

CH,—O-NO,
H-O-NO,
CH,—O-NO,

CH,~O-NO,
H-O-NO,
CH,~O-NO,
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CH,—O-NO,
H-O-NO,
CH,OH

CH,~O-NO,
H-O-NO,
CH,OH

Correct Ans : C

Q.No: 31
2409131 Crotyl alcohol has the structure:

Hifed Vehlgld dI AT T §:

CH2=CH—CH20H

A
CH2=CH—CH20H
CH,=CH(OH)-CH
B
CH,=CH(OH)-CH
CHa~CH=CH-CH,~OH
C
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CH3—CH=CH-CH,~OH

CH(OH)=CH-CH;

CH(OH)=CH-CHj

Correct Ans : C

Q.No: 32
2409132 The missing structures A and B in the reaction sequence :

R-CH,~CH,0H 4222 , R-CH=CH, ——2—— RCHO + A

= @ 2. 0" Reduce
are given by the set : B
)0
R-CHy~CH,0H 2% R-CH=CH, —— -5~ RCHO + A
' I Reduce |

H A TAT B FHT: HT 2 -

CH;0H, RCOOH

CH,0H, RCOOH

Methanal, RCH,OH
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Fiafer, RCH,OH

Ethanal, RCOOH

TJTd, RCOOH

Methanal, RCHOHR’

AYFTA, RCHOHR’

Correct Ans : B

Q.No: 33

2409133 The missing structures A and B in the reaction sequence :

CHa—CH=CH, —2% , A _H202 - NaOH

CIRIERIEGE L
CH3-CH=CH, 226, A 1202 7104 , g

FA AT BT AT FAT: FTE

CH3~CHp~CHy-BH,, CH3—CH,~CH,0H

CH3~CH,—~CHy—BH,, CH3—CH,~CH,0H

B are given by the set :
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(CH3CHCH),BH, CH3~CH,~CH,0H
B

(CH3CHCH),BH, CH3~CH,~CH,OH

(CH3),CH-CH,-BH,, CH,~CH(OH)-CH
C

(CH3),CH-CH,-BH,, CH,~CH(OH)-CH

(CH3~CH,~CHy)s B, CH3~CH,—CH,0H
D

(CH3-CH,—CHy)3 B, CH3~CH,~CH,OH

Correct Ans : D

Q.No: 34

2409177 Pentane-2-one differs from pentane-3 one in that :

37-2-31H 3R U=4-3 3 frg yoR A 81 §:

Pentane-2-one does not give iodoform test

ART-2-311 ImarSIw i wfieror 98 a1

Pentane-2-one gives iodoform test
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ARH-2-311 ITAISIBIH uheror ar 2

Pentane-3-one gives iodoform test
YR-3-3H17T TAISIwIH uheror 3ar 3

Pentane—2-one does not react with NaHSO,

UeeA-2-3A NaHS 0, % &1 T a1 HLar

Correct Ans : B

Q.No: 35
2409178 Aldehydic group can occur :

ufeaise Tig IufRd & ol 3:

Any where in the carbon chain
P y@ar ¥ st off
In the middle of the carbon test

P y@ar & 7T o
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Only at the second carbon atom of the chain

Fada g & fgdia Fra- WA wR

Only at the end carbon atom of the carbon chain

P BT g & A BT IRATY W

Correct Ans : D

Q.No: 36

2409185 KOH Bp . Alc. KOH Hg? | NHoOH . _ .
A—SEEH 5B —25C Nani, D aingso; #1228 (CH,),C = NOH [A] i -
A—SE85B—225C ‘::zr:(no; >D anHng.szog > E —28% (CH,),C = NOH [A] z:
CH,CH,Br

A
CH,CH,Br
CH,CH,CH,Br

B
CH,CH,CH,Br
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CH,CHBI,
C
CH,CHBI,
CH,CH,CHBT,
D
CH,CH,CHBT,

Correct Ans : B

Q.No: 37
2409187 Acetone on heating with ammonia produces:

g 7 o9 o1 Ide THieH &) M & 1Y TH B9 W §1dT 8

Acetaldimine

A

Diacetone alcohol
B
(o Diacetone amine
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SRTHeH T

Hydrobenzamide

TR ISSIHIES

Correct Ans : C

Q.No: 38
2409272 CH;CONH,, Br, & KOH. give CH3NH, as the product. The intermedates of the reaction are :

O O Br
i

I |
[a] CH3— C —NHBr [b] CH3-N=C-O [c] CH3NHBr [d] CH3—C—N\
Br

The correct answer is :

CH3CONH,, Br, TT KOH #T T 4T %1 &7 3912 CHyNH, 74T 21 38 ATH AT 6T Je7 Jreg 4% 2

0 O Br
I I
[a) CH3— C -NHBr [b)CH3-N=C-O  [c] CH;NHBr [d) CH5-C —N\
Br
Tl I

a, b
A

a b
B a c
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a, c

b, d
C

b, d

c d
D

c d

Correct Ans : A

Q.No: 39
2409273 Gabriel phthalimide reaction is used in the preparation of:-

et AefigArzS aif¥fshar e & fover & uged gt &

Secondary amine

A

fodfae =

Primary aliphatic amine
B

i i
C Primary aromatic amine
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WYHE gftsfes TiA

Tertiary amine

(LRI

Correct Ans : B

Q.No: 40
2409282 In which case alkylamine is not formed :

e siftyferar & Sfcwra UHH =78 &
R-X + NH; -

A
R-X + NH; —>
R-CH=NOH + [H] —=—

B
R-CH=NOH + [H] —=—
R-CN +H,0 __H* |

(o)

42 of 100 15-12-2021, 11:08



Firefox https://mppeb.cbexams.com/MPPEB LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

R-CN +H,0 __H" |

RCONH, + 4[H] —LiaHs

Correct Ans : C

Q.No: 41
2403385 Down syndrome is caused by?

137 RigH fhg® SR gl 22

Virus

fammgy

Bacteria

Sitarg

Protozoa

mersa
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Chromosome disorder

RUGERCEH

Correct Ans : D

Q.No: 42
2403386 Which acid is present in spinach?

Ui § PIH-9T 3%t HIGE eIl 87
Lactic Acid
A
dffe® ond
Formic Acid
B
BIfH® 3T
Oxalic Acid
(o
SiTeATfere 3r
Tartaric Acid
D

TR e
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Correct Ans : C

Q.No: 43
2403387 What kind of joint is present in our knee?

IR Ye ¥ {59 avg o7 IfY Aivg 872

Ball and Socket Joint

A
Pom-@ierad iy
Hinge Joint
B
fe== |fy
Fixed Joint
C
3rad |fe
Pivotal Joint
D

R |y

Correct Ans : B

Q.No: 44
2403390 Biomass is converted into biogas in the absence of
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TN F S | o1 sufRufa o ufvafda fasar smaT @ |

Water

Oxygen

ffefter

Vegetable waste

3rufRry wfssral

Soil

fargt

Correct Ans : B

Q.No: 45
2403433 'THE PROBLEM OF THE RUPEE’ book is written by

G WiscH T & SO R R foredt € R

A Dr. Bhimrao Ambedkar
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3. HR1T srdsHr

Raghuram Rajan

B
YRTH TSI
Amartya Sen
C
e A9
Jawaharlal Nehru
D

ECIRGIGE RS

Correct Ans : A

Q.No: 46
2407801 From which region of Madhya Pradesh is Samrat Ashoka’s wife said to have belonged?

HYTC 32 b1 Uedl b SR H el Sfiell ¢ fob 3 Heg e & foby & § Feiftrd g

Indore
A
B Raisen
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AT

Vidisha
(o

fafe=m

Mhow
D

Hg

Correct Ans : C

Q.No: 47
2407811 India has 11 agro-climatic zones. How many of them are in Madhya Pradesh?

YRA B 11 B Searg 8 &1 I § fpa A wew 7 72

2
A

2

4
B

a4
C 6
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11

11

Correct Ans : D

Q.No: 48
2407822 In which year was Nida Fazli awarded the Padma Shri award by the Government of India?

11 WTorett B URd WNHR R {59 v 7 ft REHR & g fovan mar ure

2010
A

2010

2013
B

2013

2016
C

2016
D 2019
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2019

Correct Ans : B

Q.No: 49
2407831 'Tipitaka’ is associated to which of the following religion?

fRefteer Fufifed § @ g o § d6fid 2

Jainism
A

o9 g

Sikhism
B

Rrg ot

Buddhism
C

dtg o

Hinduism
D

feg ud

Correct Ans : C
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Q.No: 50
2407841 Which of the following river is known as Tsang Po in Tibet?

frafafed # @ fow 7d 1 fossa & 9t & A J <1 ST 82

Ganga
A
I
Indus
B
Ry
Brahmaputra
C
SqA
Godavari
D
Meradt

Correct Ans : C
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Q.No: 51
2407845 The area which receives maximum heat is known as:

fYHTH aTT T A a1 & Y b & 19 F ST offel B

Torrid Zone

A
Iy Hfedy
Temperate Zone
B
it wfedy
Frigid Zones
C
<ia sfesy
Both (a ) and (b))
D

3T (a) 3R (b)

Correct Ans : A

Q.No: 52
2407847 What is the pressure of air at sea level?

% I W a1 BT S fbaT eIl 82

52 of 100 15-12-2021, 11:08



Firefox https://mppeb.cbexams.com/MPPEB LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

High
A

3

Low
B

H

Moderate
C

HOH

Zero
D

RG]

Correct Ans : A

Q.No: 53
2407946 Which of the following is a folk music of Jammu Kashmir?

frofifad & ¥ SH-u1 o R &1 % i 32

Sana Lamok

T ATHIG

53 of 100 15-12-2021, 11:08



Firefox

54 of 100

Daskathia
B
AU
Laman
C
qHA
Chhakri
D
TP

Correct Ans : D

Q.No: 54
2407947 Koodiyaattam is a traditional

FHISAEH HIA T Th URURS
Dance
A
TP T4
Music
B
ifta

form of Kerala

U g
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Theatre
C

T

Painting
D

g

Correct Ans : C

Q.No: 55
2407948 Which of the following dance form is from Tamil Nadu?

frofofad & ¥ oF-u1 7o afterg ¥ 82
Kathakali
A
FYBAL
Kathak
B
YD
Bharata Natyam
C

Hd ATH

55 of 100 15-12-2021, 11:08



Firefox https://mppeb.cbexams.com/MPPEB LIVE Nov 2021/MPPEB_Objections Nov_admin_Panel 202...

Kuchipudi

plagst

Correct Ans : C

Q.No: 56
2407949 In which state the Giddha dance is performed?

freT 7 fpw g & o Sman €2
Haryana
A
giamom
Punjab
B
UolTd
Uttar Pradesh
C
IR U
Jammu and Kashmir
D

W 3R HIHR
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Correct Ans : B

Q.No: 57
2408004 Which of the following is type of Direct Tax?

fRoffed & @ &9 91 Uda H T UPR 8?2

VAT Tax

de e

Income Tax

Service Tax

Jar HR

Excise Tax

TRITSS eI

Correct Ans : B

Q.No: 58
2408006 Which of the following is not a fixed capital?
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frofafed & 9 oF-u1 we Py ool 78 82

Turbine

CLlE

Computer

HH

Money

LL)

Building

Haq

Correct Ans : C

Q.No: 59
2408008 What is gross primary deficit?

bl UTUfHh OTeT T 72

A Revenue deficit - non debt creating capital receipt
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Revenue deficit - net interest liabilities

B

TSI °TeT - Y TSl ASINar

Fiscal deficit — net interest liabilities
C

DI °TET - (& AT Sgmar

Fiscal deficit - non debt creating capital receipt
D

ISTH I TTeT - R-FH0T Yo wifty

Correct Ans : C

Q.No: 60
2408009 Which of the following is the correct formula for calculating National Income (NI) from Net National Income (NNP)?

75 & @ pH-91 fad TP 3 (NNP) I IETT ST (NI) ST 0T XA HT F61 BIUam 52

NI = NNP + indirect taxes - subsidies — depreciation

NI = NNP + 3U& o - Afs! - Teag™

B NI = NNP - indirect taxes + subsidies
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NI = NNP - 3™ 3 + gfoys!

NI = NNP - indirect taxes + subsidies — depreciation

NI = NNP - 34 & + Afs! - Teag™

NI = NNP + indirect taxes - subsidies

NI = NNP + 38 &Y - 9foda!

Correct Ans : B

Q.No: 61
2405405 Which of the following quantities is dimensionless?

frefafed Tkl # @ S i e g2

Gravitational constant

A
TRETHYYT i
Plank’s constant

B
wie fAadaie

C Power of a convex lens
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Id A DI &l

Strain

GEIE]

Correct Ans : D

Q.No: 62
2405406 Which of the following is a unit of distance?

PR # 3 F o 3 T 35T 27
Torr
A
R
Light year
B
UBTRT T
Second
C
Jbs
D Joule
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Correct Ans : B

Q.No: 63

2405407 Dimension of electric current is:

faqga urT &1 famm 8-

MLOT-1Q]

MLOT-1Q]

ML?T-1Q]

ML?T-1Q]

IM2LT Q]

IM2LT Q]
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IM2L2T-1Q]

IM2L2T -1Q)]

Correct Ans : A

Q.No: 64
2405408 One million electron volt (1 mev) is equal to-

T R Sdag Sl (1 mev) SRR &-

10°eV
A
10°eV
10%eVv
B
10%eV
10%eV
C
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10%eV

107eV

107eV

Correct Ans : B

Q.No: 65
2405427 The acceleration due to gravity is g at a point distant r from the center of earth of
radius R. if r < R then.

gedl fr BT R § T 59& &g § 1 gl W &A™ @0l g ¢l IGr < R, d&-

gocr?

gocr?
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g o< r-!
C .
g o< r!
. ]
goxr?

D
goxr?

Correct Ans : A

Q.No: 66
2405428 If the earth losses its gravity, then for a body-

gfe gt e @I ¢ ot a%g -

Weight becomes zero, but not the mass

A

R YT ENT AT goaar 81

Mass becomes zero, but not the weight
B

AT [ RN AfhT HR 6T

Both mass and weight become zero
C

W 9 YR g1 I g1
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Neither mass nor weight becomes zero

T o) SeaH 3R 7 8§ YR Y g

Correct Ans : A

Q.No: 67
2405439 The acceleration due to gravity near the surface of a planet of radius R and density d is proportional to-

TH 78 et ST R 9 991 d 8, 31 9d8 & U TRy @vul JHHUT &-

dR?
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dR

M| A

d
R

Correct Ans : C

Q.No: 68
2405443 When a disc rotates with uniform angular velocity, which of the following is not true?

e U & e wHE Sl 3 & g 7, @ Fefarad ¥ s s 9d T8 82

The direction of rotation remains same

A

ol &1 fiwn o € et @

The orientation of the axis of rotation remains same
B

3l BT SYTINBHIN U 5T &

The speed of rotation is non-zero and remains same
C

YUl P} T1e LT G JHM gl 8
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The angular acceleration is non-zero and remains same

PV ©RUT 3T § JHH IgdT &
Correct Ans : D

Q.No: 69
2405444 Ty stable isotopes §Li and ]Li have respective abundances of 7.5% and 92.5%. These

isotopes have masses 6.0152 u and 7.01600 u respectively. The atomic weight of lithium is-

ar PR 3msaRed §Li 3R ] Li 1 I9Xan RN 7.5% 3 92.5% §1 34 IMSHAH F
GedA FAM: 6.0152 u 3R 7.01600 u §1 MfATH FT AT W B-

6.941 u
A

6.941 u

3.321 u
B

3.321 u

2.561 u
C

2.561 u
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0.621 u

0.621 u

Correct Ans : A

Q.No: 70
2405458 If force (F), Length (L) and time (T) are assumed to be fundamental units, then the dimensional formula of the mass will be-

e §6 (F), T8 (L) 3R I0T (T) S Jd SHIsA AFT o1, A Sq HT faeia wefieor gi-

R FL-1 T2
FL-1 T2
. FL-1 T-2
FL-1T-2
c FL-1T-!
FL-1T-!
5 FL*2 T2
FL*2 T2

Correct Ans : A

Q.No: 71 —
2405461 The electric potential at a point (%, y, z) is given by V=- x? y - x23+ 4. The electric fieldE at

that point is-

T g (x,y.2) W faegd fas@ v f6ar oidr & v=-x?y-xz®+4, 38 g W
facad & E §-
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E = %(2zy+z3) —{—3.7:2 + k3z2?
A
E= %(2my+z3) +3m2 + k3z22
E =i2zy+ j(2® + ) + k(3zz — 3?)
B
E =i2zy+ j(2® + ) + k(3zz — 3?)
E= §z3+3’zyz+icz2
C
E = ;Jza-i-_}':cyz—i—icz?
E = '2(2a:y—z3) +3’a:y2+ic3z2m
D
E = %(2a:y—z3) +3.7:y2+ic3z2m

Correct Ans : A

Q.No: 72
2405462 A proton and an electron are placed in uniform electric field-
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TP W 3R gade Uh ThaHH fagygd &F # I 9 8-

The electric field acting an them will be equal

A
1 R ol X IR fagga &7 wRmaw g
The magnitude of the force will be equal
B
al BT IR JHE g
Their acceleration will be equal
C
ISP @RI A gt
The magnitude of their acceleration will be equal
D

I @1 BT UROIMTH FHE B

Correct Ans : B

Q.No: 73
2405463 If E is the electric field intensity of an electrostatic field, then the electrostatic energy density is proportional to-

afe U faggd &7 ot fagygd & @t fuar E §, @ RR faggd S 9@ g 3-
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VE?

1/E?

Correct Ans : B

Q.No: 74
2405464 The mean free path of electrons in ametalis4 x 10~ m. The electric field which can give on

an average 2eV energy to an electron in the metal will be in units V/m-

U oiq A SoFCiA F AT HEd 9¥ 4 x 105 W B, A aig A fega &7, S
soEclel @1 3T 20V FSSIM, Vim SFE F &
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8 x 107
A

8 x 107

5x 10711
B

5x 101

8 x 1071
C

8 x 10711

5 x 107
D

5 x 107

Correct Ans : D

Q.No: 75
2405471 In good conductor of electricity the type of bounding that exists is-

T faggd & garas § o UeR su i1 8, 98 HKId 9l -
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Vender walls

A
aisy ared
Covalent
B
g dUSH
Ionic
C
mafie
Metallic
D
o1g BT (Aefere)

Correct Ans : D

Q.No: 76
2405476 The probability of electrons to be found in the conduction band of an intrinsic semiconductor of finite temperature is:

TS SodeH BI AT domE & Hiake iearad & aae 98 § OH &1 Wiied 5-

Increase exponentially with increasing band gap

Aol & Fedl @ 9 AU g1 & "1y
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Decrease exponentially with increasing band gap

B

Aht | gedt § 95 U ge F WY

Decrease with increasing temperature
C

AT g¢ F Ty edl @

Is independent of the temperature and band gap
D

AUET SR ¥ AU A wWaT

Correct Ans : B

Q.No: 77

2405480 Escape velocity on the surface of earth is 11.2 km/s. Escape velocity from a planet whose mass is the

. 1 .
same as that of earth and radius y that of the earth is-

gedl FI Fag W Taa a9 112 FalA. 81 v 75 g aegae 9edl & goadaa &
areR ¥ 3R B gudt 4 Boar iy s (3) &, F gome dor g

2.8 km/s

2 8 TR,
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15.6 km/s
B
15.6 fReTA.
22 4 km/s
C
22 4 THATE.
44 8 km/s
D
44 8 AT,

Correct Ans : C

Q.No: 78
2405537 Two resistors of resistance R; and R; having R; = R; are connected in parallel. For equivalent
resistance R the correct-

& YT fSed gfdder Ry AR R §, Ri > Ry) WA 3 §U &1 3a% FAded
gfaier R& fw &g & 8-

R >R; + Ry
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R=>=R+Ro

R; <R < Ro»

R, <R <R»s

Ry <R < (R; + Ra)

Ry <R < (R; + Ra)

R <R,

R <R,

Correct Ans : D

Q.No: 79
2405538 The effective resistance between the point A and B in the figure is-
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fo & SR figstt A ok B & offg gurdt wfaRly &-

D

50

50
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2Q

3Q
C

30

4Q
D

4Q

Correct Ans : B

Q.No: 80
2405542 The current I in the given circuit shown is-
2V
2 s 20
2V
| ' T 2V
feu ™ wfdhe & yr1 1 &1 A -
2V
2 20 20
2V
I T 2V
A 1.33 A
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1.33A

Zero

2.00 A

2.00 A

1.00A

1.00A

Correct Ans : A

Q.No: 81
2405543 Three resistances 2Q, 3Q and 4Q are connected in parallel. The ratio of currents passing through
them when a potential differenceis applied across its ends will be-

e 9feRTer 20,30 R 4Q FATR # I3 §I § 38 da dlell URT & IAUId, i
saa O o) fastarax fear = g, ghen-
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6:4:3
A

6:4:3

4:3:2
B

4:3:2

6:3:2
C

6:3:2

5:4:3
D

5:4:3

Correct Ans : A

Q.No: 82

2405549 pan filled with hot food cools from 94°Cto 86°Cin 2 minutes when the room temperature is at 20°C.

The time taken to cool it from 71°C to 69°C is-
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FAY & dGATT 20° AToTIT W Th dd To1Te 3H Q@1 @ ¢, 2 @ae & o4 afcqaa @
86° JfoTITT TUATT W @I AT &l 71° FfcTaa T 69° AfeTaq WX 83T gl & o= ol
AT B-

12 second

12 Y&s

22 second

22 AHs

32 second

32 &S

42 second

42 A5

Correct Ans : D
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Q.No: 83
2405550 Two rods of equal of length and diameter have thermal conductivities 3 and 4 unit respectively. If they are joined in series, the thermal conductivity of the

combination in the given units would be-

3 ©8 @] dars 7 U YA 8, B SO el HHTT: 3 3R 4 SHIs ¢ afe Ts! &I 4ot § Sis a1 91 o Ygad 38 &1 ST Iradwdr gifl- (3978 H)

3.43
A

3.43

4.43
B

4.43

5.43
C

5.43

2.43
D

2.43

Correct Ans : A
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Q.No: 84
2405554 The thermal radiation from a hot body travels with a velocity of-

e T fivs & Suiy faferur i 3 F 9ad §-

330m s !
A
330m s !
2% 10° ms!
B
2% 10° ms!
1200 m s}
C
1200 m s !
3x10°ms™!
D

3x10° ms!

Correct Ans : D
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Q.No: 85
2405567 In intrinsic semiconductor has a resistivity of 0.05 Om at room temperature. Find the intrinsic carmier

concentration, if the mobilities of electrons and holes are 0.39 m? V-! 571, and 0.11 m? V! s°! respectively.

vH sfecfegsd (3MaRe) 3icarad T 9faIueddrn, #AY & a9 IR 0.05 Om ¢l I seiaci
3R grew &1 arfaeherdr saen 039 m2 V2 51 3R 0.11m? V1 51, R algel Figdl A -

1.2 x 10 m-3

A
1.2 x 10" m-3
2.5 x 10" m-3
B
2.5 x 10" m-3
1.9 x 10 m-3
C
1.9 x 10 m-3
3.1 x 10*! -3
D

3.1 x 10% -3
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Correct Ans : B

Q.No: 86
2405568 In pure semiconductor, the number of conduction electrons is 6 x 10!8 per cubic meter. How

many holes are there in a sample of size lem X lem % 1 mm?

A &R A, TleTh Jolagld Bl FEAT 6 x 1018 9fd gel MeT g1 AR 1 A x
1 3« 1 e F e 7 gow o &

3 x 10Y°
A

3 x 10Y°

6 x 10
B

6 x 10M

3 x 101!
C

3 x 101
D 6 x 1010
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6 x 1010

Correct Ans : B

Q.No: 87
2405581 The figure below shows currents in a part of electric circuit. The current i is-
2 amp 1 amp
1.3 amp
2 amp

fou U o B, 3aifdee Tfbe & uril & urT o w@ 81 uRT i B-

2 amp 1 amp

1.3 amp

2 amp

1.7 amp
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1.7 TR

3.7 amp

3.7 TR

1.3 amp

1.3 TR

1 amp

1 TfRrR

Correct Ans : A

Q.No: 88
2405628 Which of the following unit is a unit of power?

ffafed & o1 @ o1 TR (Power) 31 3518 &2

Kilowatt hour

fpeare ger

Watt
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qic
Erg
C
3rf
Calorie
D
Far

Correct Ans : B

Q.No: 89
2405631 The phase difference between two waves represented

y1 = 10 Ssin [100t +(%)+ 0.5] m

y2 = 10 % cos [100t +(%) | m

Where x is expressed in meters and t is expressed in second.

& TN & dF FAR BI USRI g 8-
y1 = 10 %sin [IOOt *(é{;)* 0.5] m
y2 = 10 ©cos [100t +(%) | m

SRl x HieX # SIR t IS H &-
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1.5 rad
A

1.5 rad

1.07 rad
B

1.07 rad

2.07 rad
C

2.07 rad

0.5 rad
D

0.5 rad

Correct Ans : B

Q.No: 90

2405751 The equation of stationary wave along a stretched string is givenbyy = 5 sin?cos 40ttt where

x and y are in cm and t in second. The separation between two adjacent nodes is-

Ue Wid v &9 & g, ﬁﬁmmﬂmm%—y=55in?cos4omaﬁx
ARy T A § 3R tJFUS A B gF e Alsd & §1g HK &-
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1.5cm
A

1.5 9

3cm
B

3 9t

6 cm
C

6 I+t

4 cm
D

4 g1t

Correct Ans : B

Q.No: 91

2407298 A convex mirror of focal length f forms an image which is i times the object. The distance of the

object from the mirror is:
1
T Sccel GUOT frareh Wi gl £8, a6 1 — I+ fafeesr Sefiar & avg Fr o A gl &-
A (n-1)f
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(n-1)f

B
(5
(%)
C
(5
(n +1)f
D
(n+1)f

Correct Ans : A

Q.No: 92
2407301 A square wire of side 1 cm is placed perpendicular to the principal axis of a concave mirror of focal length 15 cm at a distance of 20 cm. The area enclosed by the

image/jpg of the wire is:

TF 15 I e g ard saad U F 20 It Bt g8 W, G 9l & Twad Yo 1 At a1d FHR IR Y @ ST g1 IR & Ufafard gRT ERT T &% B

4 cm?
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4 TR

6 cm?

6 T

2 cm?

9 cm?

9o [

Correct Ans : D

Q.No: 93
2407304 Given a point source of light, which of the following can produce a parallel beam of light?

TR &1 foig wid fear mar g1 Fafafed & @ 19 ys™r &t IuFiaR §19 309 IR Gl 82

Convex mirror

Faa guur
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Concave mirror

B

3qad guur

Concave lens
C

aad A

Two plane mirror inclined at an angle of 90°
D

&Y Tl GUOT Teh G A 90° T &HI0T ATt G2

Correct Ans : B

Q.No: 94
2407307 A virtual image/jpg larger than the object can be obtained by:

T % § TS MU vfafasa e ) S Jhet 8

Concave mirror

Jaad guur
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Convex mirror

B
Iad guur 9
Plane mirror
C
quad gdur |
Concave lens
D

3add 49 I

Correct Ans : A

Q.No: 95
2407528 Two particles execute SHM of same amplitude and frequency on parallel line. The pass one another when moving in opposite direction each time when their

displacement is half of the amplitude. The phase difference between them is-

3l B AR T TR T S 3R Mgy ¥ TR ATad Td R &1 af Th guR &1 fAusid fo=n & = §U 19 oxd § 8% IHT 5d 3o [T, S| &1 3147 8T §, &

J7P dF HelieR B-
0
A
0
2T
B 3
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oA

6

Correct Ans : B

Q.No: 96
2408212 In an electroplating experiment, m gm of silver is deposited when 4 ampere of current flows for 2 minutes. The amount (in gm) of silver deposited by 6 ampere

of current for 40 second will be

T faggd AU JaNT ®, O 4 THIRR & 4RT BT 2 BF3f 9% S8 S O m I diat o T Bl 81 40 IS & ol 6 TiliaR &t yRT 9grit oI df 9rd} &t AE (o 7)) o gt -

4m
A

4m

m/2
B
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m/2

m/4
C

m/4

2m
D

2m

Correct Ans : B

Q.No: 97
2408213 The production of e.m.f by maintaining a difference of temperature between the two junctions of two different metals is known as

3 = ergait & &Y st & off9 agHH & 3R &I s W g9, fagyd are® aa &1 SdTe, Hedrd & -

Joule effect

A
oo ghae
Seeback effect
B
9w shae
Peltier effect
C
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TR 3hae

Thomson effect

YTHIA Shae

Correct Ans : B

Q.No: 98
2408321 Three equal resistors connected in series across a source of e.m.f together dissipated 10 watt. If the same resistors are connected in parallel across the same

e.m.f then the power dissipated will be

& T ufeRiel &1 9oft &t faggd ae® 9@ & Wid 9 o o 91 & 10 dre feRite #rd § 3¢ 98t iRy IumiaR & 93 @, U1 fdggd as aa of 98t g, ot ureR fefes gift -

10 watt
A

10 gl

30 watt
B

30 dic

20 watt
C

20 dic
D 90 watt
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90 dic

Correct Ans : D

Q.No: 99
2408322 In a large building, there are 15 bulbs of 40w, 5 bulbs of 100w, 5 fans of 80w and 1 heater of 1kw. The voltage of the electric mains is 220V. The minimum

capacity of the main fuse of the building will be

U% 931 3URA #, 40w & 15 Ted, 100w & 5 §ed, 80w P 5 T 3R 1kw FT Ud giex 71 faggd A= &7 Siees 220V 81 SHRA & Jd TS Bi FHeas enfar g+t -

8A
A

8A

10A
B

10A

12A
C

12 A

14 A
D

14 A

Correct Ans : C
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Q.No: 100
2408335 An electric bulb is rated 220 volt and 100 watt. Power consumed by it when operated on 110 volt is

U 3Afded 9ed BT &R 220 dlee 3R 100 dic 81 39 gRT STANT Bt gt TR, O 110 dee R FHT favar o ot §

50 watt
A

50 dic

75 watt
B

75 dic

90 watt
C

90 aic

25 watt
D

25 qic

Correct Ans : D

100 of 100 15-12-2021, 11:08



